sEeEd= EH ot
AL
A& EER-E))
CRA - EB . SRS - MIRAE ofl &t i HIDEZ
EH 10,574,012 14,601,167 A4,027,155
= 6,200,500
[ 200,000
Il 440,000
= 3,733,512
2 9,962,784 14,016,367 A\4,053,583
= 6,120,500
Il 440,000
= 3,402,284
Aotetd 2 S 4,330,100 4,169,400 160,700
= 2,725,000
Il 440,000
S 1,165,100
Atetd e 246,900 460,900 214,000
202 Ol 5,900 5,900 0
01 20| 5,900 5,900 0
oA 20 gFFd 5,900
307 elztol e 184,000 105,000 79,000
05 gIZt?& = 184,000 105,000 79,000
OoiXdstsd 29 184,000
308 AXIEHMSO0IA 50,000 50,000
01 XN B EEXS 50,000 50,000
O4BHH= HEHF2AZNXS 2 50,000
401 AlEHIXL 208 7,000 180,000 A173,000
01 A& 7,000 180,000 A173,000
Ooxte 7,000
2MHRE L2 TH(=2 1,560,000 2,280,000 A720,000
= 1,300,000
= 260,000
403 Xt 1,560,000 2,280,000 AT720,000
= 1,300,000
= 260,000
01 AXISHHA2EE 1,560,000 2,280,000 A720,000
osZet 180,000
= 150,000
S 30,000
OEot 720,000
= 600,000
& 120,000
Ozt 480,000
= 400,000
= 80,000
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Az pEiEH= SA : XOIMEN Dt
g o3
tel: Ndetd 28 & A8 &5 ESEE))
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
02 2B AAHE X 300,000 0 300,000
ONABANSHEY 2Y X2 300,000
= 150,000
= 150,000
CAIAMERH EH(=1) 455,000 0 455,000
= 360,000
[ 105,000
403 AXIEHMS =01 455,000 0 455,000
= 360,000
= 105,000
01 AXIEH A= 2 455,000 0 455,000
O3 FAl TAIANMENH =4 195,000
= 150,000
= 45,000
O NIZ SAI~MERAH o 260,000
= 200,000
& 60,000
A2 SXCAl AEME 28(21) 117,000 104,000 13,000
Il 90,000
= 27,000
308 AFXIEHMSOIE 117,000 104,000 13,000
Jl 90,000
= 27,000
01 XN B EES 117,000 104,000 13,000
OEME SXNZAl 152208 K& 117,000
Il 90,000
S 27,000
SAESX &R S L 2H0ISAIE EX(212) 395,000 0 395,000
Il 360,000
[ 45,000
403 MRIEHMSAHE01H 395,000 0 395,000
Il 360,000
= 45,000
01 MXIHHAZE X 395,000 0 395,000
o082 sXESXY &= 168,000
pJ 140,000
= 18,000
oz 2= sAdH A 237,000
Il 210,000
& 27,000
dEliedd 28 & NSJisst 28 =4 5,000 5,000 0
201 eEr=2E| 5,000 5,000
01 AtR2teldl 5,000 5,000
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RPN Y = A KA e
M Tl
tel: Ndetd 28 & A8 &5 ESEE))
AR 24 - FB . GR(3) - NISAY - BES Ol ke i HImE2
| ossnes 21 @ dExe 22l 5,000
YAz @ZusIEI 29 4,000 4,000 0
201 k2ot 4,000 4,000
01 Al 22l 4,000 4,000
O#ANSIETN 2 4,000
OIR2 WA si2iael Xig 23t 11,200 1,200
201 k2| 8,200 8,200
01 Al =2lY| 8,200 8,200
OMLAIY BAALE X8 8,200
202 04| 3,000 3,000
ST 3,000 3,000
OBAATEI}L AT BEEA 3,000
OIS - Mg 25 22 5,632,684 9,846,967 A4,214,283
2 3,395,500
= 2,237,184
OHMES TSHoIZ(2D) 732,800 1,243,000 A510,200
= 504,000
= 138,800
403 TXISHHI STH201 & 732,800 1,243,000 A510,200
= 504,000
= 138,800
01 XIXISHHIRH 22 % 732,800 1,243,000 510,200
OsxE ol 732,800
= 534,000
= 138,800
OFMEE TaH0IAIE &X 300,000 300,000
408 TXI SIS K201 & 300,000 300,000
01 XHXISHRIRH2 2 2 300,000 300,000
outSe?l el 84X 300,000
ASF THS OFMUSHTI AIZTHF X ALHIXI2] KIR(22) 945,000 2,175,000 1,230,000
= 630,000
= 315,000
308 XHXIE4HI SOI 945,000 2,175,000 1,230,000
= 630,000
= 315,000
NPCENENEESS 945,000 2,175,000 1,280,000
OABMH L ARl K& 945,000
2 630,000
= 315,000
AF IS E32A3 Y ZeEs R 300,000 367,500 167,500
308 XHXIEHHISOIH 300,000 367,500 AB7,500
PG EREESS 300,000 367,500 67,500
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Arelar EN Dt
ot er 2
OHls - A2 25 22 EEREED
2o BE . E(3) - NIRA - o HIDSY
| oAy tig Za=a3 300,000
ASF THEF SERR| B2(2D 690,200 868,000 AT77,800
2 493,000
= 197,200
308 TXIEHHISOI 690,200 868,000 AT77,800
2 493,000
= 197,200
PR ENEESS 690,200 868,000 A177,800
OASF X+ SEf2| 22| 690,200
2 493,000
= 197,200
MENHMHIAXI ZRI(22) 660,000 176,000 484,000
2 550,000
= 110,000
308 MXIEHHISOIH 660,000 176,000 484,000
2 550,000
= 110,000
P E R ENEESS 660,000 176,000 484,000
OEMESAY 660,000
2 550,000
= 110,000
OMESE2 AXB2IME 2 616,667 550,000 66,667
2 185,000
= 431,667
307 Q12H0| A 616,667 550,000 66,667
2 185,000
= 431,667
(2 DIIHAAI R E 616,667 550,000 66,667
OOtMsE RxR2IM 616,667
2 185,000
= 431,667
Ol - A2 25 196,350 196,000 350
308 XHXIEHHI SOI 196,350 196,000 350
PR ENEESS 196,350 198,000 350
OOMES TIsH24 196,350
QSHUR M DES A 600,000 600,000 0
2 500,000
= 100,000
308 MXIEHHISOIH 600,000 600,000 0
2 500,000
= 100,000
PEENENEESS 600,000 600,000 0
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